
Rev.4 

 
Kolpin Hand Guard Mounting Instructions-97300 

Parts list: 
NO. Description Material/Specification QTY. Spare P/N 

1 L.H. Hand Guard  Molded 1 87030 

2 R.H. Hand Guard Molded 1 87031 

3 Mounting Bar (left)  Aluminum 1  

4 Mounting Bar (right)  Aluminum 1  

5 Mounting Strap  Steel 2  

6 Spacer Block  Plastic 2  

7 Hex Bolt  1/4" - 20 Hex Head, 2.25" L, Zinc-Plated Steel 2 77302 

8 Hex Nut 1/4" - 20 Nylock Nut 4  

9 Star Washer  1/4" Steel 2  

10 Screw #10 - 32 Pan Head, 0.5" L, Zinc-Platted Steel 2  

11 Hex Bolt  1/4" - 20 Hex Head, 1.25" L, Zinc-Platted Steel 2  

 

Mounting: 

1. Align the Right Mounting Bar to the handle bars on the riser portion of the right side.  Using the 

Mounting Strap, 1” Hex bolt, and Screw, fasten the Mounting Bar to the handle bars. (In some 

cases cutting the vinyl sleeve and removing it may be necessary) Align the Screw through the 

Mounting Strap and into the threaded hole on the Mounting Bar and tighten.  Align the 1” Hex 

bolt through the Mounting Strap and the Mounting Bar and install the lock nut.  Snug but do not 

tighten at this time. 

 

 

(3) 

 

   

 

(11)          (8) 

 

 

 

      (5) 

 

  (10) 

2. Position the Right Hand Guard in front of the Mounting Bar so that the holes on the posts align 

with the hole on the Mounting Bar.  Refer to the drawing below for the three options for mounting 

the Hand Guard to the Mounting Bar.  Using the 2.25” Hex bolt, Spacer Block, Lock Washer and 

Hex Nut, fasten the Hand Guard to the Mounting Bar in your desired position by inserting the bolt 

from  the mirror side of the hand guard.  You MUST use the star washer between the aluminum 

mounting bar and the plastic mounting surface!  The star washer must contact the plastic surface 

AND the mounting  bracket in order to prevent the hand guard from pivoting on the mount.  DO 

not over tighten the mounting bolt and nut or you can damage the plastic mounting boss on the 

handguard!.   

                                                                                                               (9)Star Washer 

      
 

 



Rev.4 

3. Tighten all Mounting Bar and Hand Guard Bolts after you have achieved the desired position.   

4. Repeat Steps 1-3 for the LEFT side application. 

 

For additional assistance, please contact our customer service department at (877)-9KOLPIN or 

customerservice@kolpin.com. 

 

 

97300 -Mode de montage des protège-main Kolpin 

Liste des pièces 

Réf. Désignation Matériau/Caractéristiques Qté 
N

o
 de pièce 

de rechange 

1 Protège-main (gauche) Moulé 1 87030 

2 Protège-main (droit) Moulé 1 87031 

3 Barre de fixation (gauche) Aluminium 1 

77302 

4 Barre de fixation (droite) Aluminium 1 

5 Bride de fixation Acier 2 

6 Cale d’écartement  2 

7 Boulon à 6 pans 
Tête hexagonale 20 de 1/4 po, 2,25 po (L), 
acier zingué 2 

8 Écrou à 6 pans Écrou 20 de 1/4 po à frein élastique 4 

9 Rondelle en étoile En acier de 1/4 po 2 

10 Vis 
Tête cylindrique bombée n

o
 10-32, 0,5 po (L), 

acier zingué 2 

11 Boulon à 6 pans 
Tête hexagonale 20 de 1/4 po, 1,25 po (L), 
acier zingué 2 

 

Montage 

 

1. Placez la barre de fixation droite sur la partie ascendante du côté droit du guidon.  À l’aide d’une 

bride de fixation, d’un boulon de 1 po et d’une vis, montez la barre de fixation sur le guidon.  Passez 

la vis dans la bride de fixation puis dans le trou taraudé de la barre de fixation.  Serrez la vis.  Passez 

le boulon de 1 po dans la bride puis dans la barre de fixation et serrez avec l’écrou.  (Laissez un peu 

de jeu de manière à pouvoir régler plus tard l’emplacement de la barre de fixation.) 

 

2. Placez le protège-main droit devant la barre de fixation de manière à aligner les trous des brides sur 

celui de la barre de fixation.  Il y a trois façons possibles de monter le protège-main sur la barre de 

fixation.  À l’aide du boulon de 2,25 po, de la cale d’écartement, de la rondelle de blocage et de 

l’écrou, fixez le protège-main sur la barre sur la position désirée.  (Il sera peut-être nécessaire 

d’ajuster l’emplacement de la barre de fixation sur le guidon.)  Vous devez utiliser la rondelle en 

étoile entre la barre de fixation en aluminium et la surface de fixation en plastique.  La rondelle doit 

être enfoncée dans le plastique afin d’être bien installée.  Ceci évite au protège-main de pivoter sur 

la fixation.  Cependant, ne serrez pas l’écrou trop fort; vous pouvez aussi utiliser du produit de 

blocage Loctite sur les filets. 

 

3. Serrez tous les boulons de la barre de fixation et du protège-main lorsque la position désirée est 

trouvée. 

 

4. Répétez les paragraphes 1 à 3 pour le protège-main gauche. 

 

Pour de plus amples détails, veuillez contacter notre service à la clientèle au 877-9KOLPIN ou sur 

customerservice@kolpin.com. 

mailto:customerservice@kolpin.com
mailto:customerservice@kolpin.com

